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Type some Sage code below and press Evaluate.

var('x,y') # this tells sagemath that x and y are
# symbolic variables
eq = Xy == Jkx"2+y"2-y"3-2
a = implicit_plot(eq,(-2,2),(-2,2),axes=True)
b = plot(5/2%x~3/2,(x,~1,2),color="red")
showl(eq)
show(a+b)
# look for vertical tangent Llines
) # where denom of y' = @
# x = 2ey=3ey*2

e . | o FPRPPR— 1 DI

Evaluate

-y +32r+ -2

10 # x = 2%y-3%xy"2 | Q;’Jﬂ-f
11 eq2 = eq.subs(x = 2%y-3%y*2) T:‘)L—(’
12 show(eq2) 5 4
13 # let's solve eq2 'L"’J M‘*‘ﬁmes ﬂ—
I4  bubba = solve(eq2,y) WM% umc"“c
5 show(bubba) "
16 answ = [ oink.rhs().n() for oink in bubba ] # called list
17 # comprehension in python
18
19 show(answ)
A0 1 anacsdo) M L4 . . . '

1; show(answ)

20 y1 = answ([@) # first element of answ
'l y2 = answ[1) # second element of answ
x1 = 2%yl = 3xyl”2
23 X2 = 2%y2 - 3%xy2”2
24 plot(a+point((x1,yl),color="pink",size=50)+point((x2,y2),color="green",size=50))
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